H & 0l & AHS B Ml A

20238 =& 2 3| LEta AIZXIZ

A AEXIZ 0
2 NSIHL A
CHel: ZAITHAY

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o HimEE]
INE=DNE=In; 25,485,192 20,000,565 5,484,627
= 3,806,000 3,687,000 119,000
Al 1,332,000 1,319,700 12,300
= 20,347,192 14,993,865 5,353,327
KIS AL 8,854,991 8,473,921 381,070
= 3,806,000 3,687,000 119,000
Al 1,332,000 1,319,700 12,300
= 3,716,991 3,467,221 249,770
S AIRH A 8,817,497 8,436,427 381,070
= 3,806,000 3,687,000 119,000
Al 1,332,000 1,319,700 12,300
= 3,679,497 3,429,727 249,770
FHAXY HE(SSotsKR) 160,000 0 160,000
s 119,000 0 119,000
Al 12,300 0 12,300
[ 28,700 0 28,700
403 XIS MSAHE01A 160,000 0 160,000
s 119,000 0 119,000
Al 12,300 0 12,300
i 28,700 0 28,700
02 I 2S0HEA=2E S AIS I 160,000 0 160,000
OFHAXY N (ESots 012)
160,000,000 160,000 0 160,000
s 119,000 0 119,000
Al 12,300 0 12,300
i 28,700 0 28,700
A2 TAIMA HEAIE 22| 24,800 0 24,800
201 L2 | 24,800 0 24,800
01 At 2elt] 3,500 0 3,500
OUsdH MO 177 X
200,000& *123] 200 0 200
OltsHdH 2AE J1J] E4 & =2l
500,000 *23| 1,000 0 1,000
OUsHH HI Hald| Ea & S
1,500,000& *13] 1,500 0 1,500
OusdH el a4 & 2F WAl
300,000& x22] 600 600
OUtsHIH MYl Ea 100,000 *23] 200 200
02 E324H| 21,300 21,300
OII8HH S3ctA B L Wil
1,700,000 & *43| 6,800 0 6,800
OousdH EH0IH el & 2SuAl
1,500,000& *13l 1,500 1,500
OUsdH XIs2 =2l 400,000 *13] 400 400




=M

X XH
o=

A& X2 2t
ASHE A

Chel: SAITHA EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
0718 & U=dE =44
11,000,000& 11,000 0 11,000
OlLt=sHH 801 ZII18E
200,000 ~4& 800 0 800
0318 ¥ UsdH FIt 2222l
400,000& =2 800 0 800
AUSH FHEZ FHEH LAY 196,270 0 196,270
403 X SHHMSAH=01H 196,270 0 196,270
02 SJ|2S0te S A AEHI 196,270 0 196,270
OXIE3a Aty Zgol e MY 223 (X0
SAHIl) =t 196,270,000& 196,270 0 196,270
HSAIEAY 16,338,500 11,238,500 5,100,000
H=AE A8 16,338,500 11,238,500 5,100,000
STEHSHE A (A=) 16,338,500 11,238,500 5,100,000
401 AIEHIZL 20| 16,338,500 11,238,500 5,100,000
01 Al&€HI 16,338,500 11,238,500 5,100,000
OSFTTEMSUE HE(SAHI)
& 16,338,500,000 16,338,500 11,238,500 5,100,000
HH2SZHI(AILXIRAD) 291,701 288,144 3,557
QIHA2HHI(AIEXI2 D) 212,532 209,275 3,257
I 2HHI(AIEXIZ D) 212,532 209,275 3,257
101 el 208,856 205,599 3,257
02 JIEtx 2= 100,588 97,331 3,257
OS=+A2+g 7,819 4,562 3,257
Olil= 34 6,180,450 6,181 2,924 3,257
J122HI(AIEXI&D) 79,169 78,869 300
Jl=2ZHI(AIE X 79,169 78,869 300
203 HR=AH] 3,900 3,600 300
M EA2HLRFAH 3,900 3,600 300
ORKNSHERFAHI
& 3,900,000 3,900 3,600 300




